Algebra

Topic 7: Special products — difference of two squares

QuesTioNn1  Expand and simplify the following.
a (x+D)x+2)=

¢ (a+3)a+5)=

e (p+8)(p+2)=

g (a+4) (a+T}=

i (2¢+3)a+5)=

k (4a+6)(2a+3)=

QuesTion2  Expand and simplify.

a  (a+3)a-2) =

¢ (y-4)r+6)=
e (a+T)a-3)=
g @y+1)(y-2)=
i Qe+D)Bx-1)=
kK (x+8)3x—5) =
m  (3x—4)(2x+5) =
QuesTioN 3 Find the following products and simplify.
a  (a+3)4+a)=
¢ (Qa+)(3-a)=
e (S-n)n+7)=
g (Bx+2)(2+x)=
i (2a-6)a+7) =
K @mtn)2m-n) =
m  (2x-3y)2x+3y) =
Algebra

b

d
f
h

(x+2)(x+3) =

(m+6){(m+1)=

(y+3)y+7) =

(d+3)(d+9)=
(Ba+1){2a+6)=
(2x+5)(Bx + 1) =

(x=3)x+2)=

(y+3)0y-3) =

(x+6)(x-2) =

(Bx+2)(x ~3) =
(x+7)(2x 1) =
(2x+3)(2x -3) =
(x=3)(x-4)=

{a+5)6+a)=

(4+x)}{x+9) =
(x-6)(7-x)=

Gu+(5-n) =

(x+yfx—y) =

(a—b)a+b)=

(a—b)Ya—b) =

Mathletics Instant Workbooks — Series J 2 Copyright @ 3P Leaming



Algebra

Topic 8: Special products — perfect squares

Question1  Expand and simplify the following.

a

C

e

(v +3)" = b (y+2)=
(m+7) = d (x—47=
(x=9) = £ G-3=
(r+11) = h (x-5)=
(m-2)" = i ()=
(a—by* = * L (uan) =

Question2  Expand and simplify.

a

C

a

C

e

8

(2x+3) = b (2m+1)’ =
(By~1)* = d  (da+1)P=
(34" - £ (e
(2a+1)* = h o (5m-1)* =
(6y+1) = i (Bn+2)Y=
(2x + Sy)2 = I fa+ 3;,)2 =
(2x+y) = n (x-3y) =
QuesTion3  Expand and simplify the following.
(x+3Y +3(x-1)= b (2a-1)-4(a-3)=
-2 +(r+3)(y-3) = d  (a+bY —(a+b)a—b)=
(a+b) +(a—b) = f  (a+3b)a-3b)+(a+b) =
Gr+4y)B3x—4y)+(x +y)’ = h o (x41) o+ (x+2)=
Algebra
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Answers — Algebra
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